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malaria <- c(6,10,18)
pop <- c(180,220,80)
names (malaria) <- c('OO","O0OO","000™")
positive <- malaria/pop
negative <- 1-positive
tab <- rbind(positive,negative)
rownames (tab) <- c("OO","O00O")
barplot(tab,main="00000000000",legend=T)
Kprop.test (malaria,pop) )
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pid <- 1:13

sex <- as.factor(c(rep(1,6),rep(2,7)))

levels(sex) <- c("O","O ")

disease <- as.factor(c(1,1,1,2,2,2,1,1,1,1,2,2,2))

levels(disease) <- c("O","O™")

print(ctab <- table(sex,disease))
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x <- matrix(c(12,9,8,10),nr=2)
chisq.test (x)
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X2 = (80 — 68)%/67.5 + (55 — 67)?/67.5 + (20 — 32)?/32.5 + (45 — 33)?/32.5 = 13.128...
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X <- matrix(c(80,20,55,45) ,nr=2)
chisq.test (X)
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Pearson’s Chi-squared test with Yates’ continuity correction

data: X
X-squared = 13.1282, df = 1, p-value = 0.0002909
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smoker <- c¢(80,55)
pop <- c(100,100)
prop.test(smoker,pop)
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calc <- as.factor(c(1,1,2,1,2,2,1,1,2,2,2,2,2,2,2))

levels(calc) <- c("OOO","O0OOM
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levels(bf) <- c("OODOO","0D0O0OM™)

print (X <- table(bf,calc))
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00000000000000000000000000000000 m =X/m0000000000
T =Y/my00000000000000 RR=m/m = (Xmy)/(Ymy)0DOOO

00000000 NODOOOOOOOOOOOOO0O000000000000000000000000
000000000000000000000000000000Bailey0000000000000000
0000D0009%0000000000000000

RR - exp(—qnorm(0.975)\/1/X — 1/m; +1/Y —1/my) DO OO (1)

RR - exp(qnorm(0.975)\/1/X —1/m; +1/Y —1/my) 0000 (2)

O000O0O0O0ORROOOOODOOOOODOOOODODODODOOOOOOODOODOOOODOOODODODODOOO
ooobooooooooooboooo

0000000000000 00000000000000000000000D0 200009%%0000
00(0.37,109)00000000000D00O0O0OODO0ODOOOOOO 200000000000009%0O
0000000 100000000 5%000000000000000000000000000000DO
cobooooooooooooono

K it10-4.R B
riskratio2 <- function(X,Y,m1,m2) {

data <- matrix(c(X,Y,m1-X,m2-Y,ml1,m2),nr=2)

colnames(data) <- c("O QO OQ","0ooo","04d"™)

rownames (data) <- c("OOO","0OO")

print (data)

RR <- (X/m1)/(Y/m2)

RRL <- RR*exp(-qnorm(0.975)*sqrt(1/X-1/mi+1/Y-1/m2))

RRU <- RR*exp(qnorm(0.975)*sqrt(1/X-1/m1+1/Y-1/m2))

cat("OUOOJQUUooooo: “,RR," 95400O0C0C = [ ",RRL," , ",RRU," ]\n")
}
riskratio2(4,2,100000,100000)

y

0000 epitools 000000 riskratio() 0000000000000 OODOOOOOODOOOOO
O000000000000000 rateratioQQ 000000000000 OODODOOOOOOOOOOO
0000000000000 OO0O0OO0O midp’OD0OO0”wald’OD00”boot”0000O0OOOOOOOO
goooooooboobboboboooooooooooobobobobbbobooooooobbbbbbooUUga
0000000000 Omethod="wald"OOOOOODOOCOOOOOOOOOODOO median-unbiased O
gboboobobooobooboboobbboobobboobbOodbbepitoolsDUOODODOODODOOO
gooooooobgooboboboooooobooooooboboboboboooobobobobobon
00000000000000000000000000 0000000000000 209%%00000
(0.37,109) 0 000000000000000000000median-unbiased 0000000000000
gooooooom

library(epitools)
rateratio(c(2,4,5%100000,5%100000) ,method="wald")

0000o00oo0Oo00ooOo0oOo0oo00d a)b,e,dJ0000000O0O0O0OO0OOOOODO OROO
OR=(ad)/(bc) 0000000000000 DOODODOODOOOODOODOO Cornfield (1956) 00O

13



000000000000000000000 9%%00000000000000000000009%%00
goooog

OR - exp(—qnorm(0.975)\/1/a + 1/b+ 1/c + 1/d)

gooboooo

OR - exp(qnorm(0.975)\/1/a + 1/b+ 1/c + 1/d)

O000OComfield 000000000000 OO0O0O0O0OO00OO0DOOOOOOOOOOOOOOOOODO

0000 NewtonOOODOOOOOOOOOOOOOOOODDOOODOOODOO
OoooooooooooO0oooooooooO0oOooooooooooOooOoooon 2.000040000

95%00000 (0.37,109) 0000000000000 O0O0OODOOOOODOOOOOOOODM

(‘ it10-5.R ™
oddsratio2 <- function(a,b,c,d) {

data <- matrix(c(a,b,a+b,c,d,c+d,a+c,b+d,a+b+c+d) ,nr=3)
colnames(data) <- c("OQQOQ","0ogo","04d"™)

rownames (data) <- c("OOO","COOQ","0O™"™)

print(data)

OR <- (ax*d)/(b*c)

ORL <- OR*exp(-qnorm(0.975)*sqrt(1/a+1/b+1/c+1/d))

ORU <- OR*exp(qnorm(0.975)*sqrt(1/a+1/b+1/c+1/d))
cat("odoooouoooo s ",0R," 95%400C0O0C00 = [ ",0RL," , ",0RU," J\n")
}

oddsratio2(4,2,99996,99998)

J

0000000000000 00000000RO fisher.test() OO OO Out of workspace O 00O
00000000000 000Oepitools000000 oddsratio() 00D OOONO fisher.test() U
0o0o0ooooooo0o000o0gdudiddvedddO0OOO oddsratio DO OOOOOOOODODOO
000000000 2.0000409%00000 (0.43,939)000000000000O0LO0OO0ODOOOD

gobooboobboobooboboo
it10-6.R

require(vcd)

OR <- oddsratio(matrix(c(4,2,99996,99998) ,nr=2),log=F)

ORCI <- confint(0OR)

cat("ooooooooaog e ",0R," 95%0CO0O0O0 = [ ",0RCI[1]," , ",ORCI[2]," I\n")

gooboooooo

gooooooooo oobboobbooobooobboobbobbOooboboobobbOoooo
O0m — me

00000000000 0000000000000 000DOU0000OD0O0OD0ODOO0 (m—me)/m

gbobh opooobooobooobobobbbobobbobooboooooooooooobobbobbbbbbooooooo
00 (m —m2)/(1 —m2)

000000 0000000000000 D0O00DO00DOO0oDoOOoOOr=(X+4+Y)/(m +me)0D0
00 (7 —m)/m
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cooboboooboooooooooOooOoOobOOoO0OobOOoOoOoOoOoOoOoOOOoOoO0OOOOODbObOOObOoOOn
ooooobooobooooobooboobooboooooobooooobooooboobobOoOoboobooDOoDOoOO
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require(ved)
assocstats(matrix(c(4,2,99996,99998) ,nr=2))

k000

gobobooooobbooobboobooobbooobboouobbooobbooU0bDbOUtest-
retest reliabilityd 0 00 0000000000000 000000000000000O00000O00Ovcd
000000000000 agreementplot() 000000000000

gobo ggox HRN

OO0Oo a b mi
Oooox c d ma
gd s n9 N

0000000000000 00000000000000000000000000000000000
00000000000D00000000000000 P, = (ny-mi/N+ny-my/N)/NOOODDDO
000000000000 0000000000x00000000 P,=(a+d)/NOOODOOOOOD
k=(P,—P)/(1-P,)0000000x00000000000000000D00000D00O0O0OOOO0
oooooo

x000 V(k)OOV(k)=P./(N-(1-P,))000000k/4/V(x)0000000000000000
0000000x=000000000x0 9%000000000000000000000000x00
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it10-7.
(/-1 0-7.R ™

kappa.test <- function(x) {

x <- as.matrix(x)

a <- x[1,1]; b <- x[1,2]; c <- x[2,1]; d <- x[2,2]

ml <- a+b; m2 <- c+d; nl <- a+c; n2 <- b+d; N <- sum(x)
Pe <- (n1l*ml1/N+n2*m2/N)/N

Po <- (a+d)/N

kappa <- (Po-Pe)/(1-Pe)

seKO <- sqrt(Pe/(Nx(1-Pe)))

seK <- sqrt(Po*(1-Po)/(N*(1-Pe)~2))

p.value <- 1-pnorm(kappa/seK0)
kappalL<-kappa-qnorm(0.975) *seK
kappaU<-kappa+qnorm(0.975) *seK

list (kappa=kappa, conf.int=c(kappal,kappal) ,p.value=p.value)
}
kappa.test(matrix(c(10,3,2,19) ,nr=2))

J
vedOOOOODO Kappa() D00 mxmO00000000000000000D0000 «x0000O

000000000 confint() 00000000000 OO0OOOODOODOOOOOOODOOOOOOODO

oooboooOoooooobbooooboooooooobooooond

require(ved)
print (myKappa <- Kappa(matrix(c(10,3,2,19),nr=2)))
confint (myKappa)
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00000000 CronbachD o 0000000000000 0O0OO0OD0ODOODOOOOOOOOOOOOODOO
goboooooooooooocoooooooooOooobooooooooooooooooooooooooaoon
gooooooooooooooboodooooooboooooooooooooooooooooooooognoon
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gooooooooogoooooooodgoo
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00000D00000000000000000000000000000000000000000000000
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0000000000 300000000000 2000000000000000000000000000z:13
DMDDDDDDmmmDDDDDDDDDDDDDDDDDwmmDDamwfzggiiDDDDDDDD
00000000000000000
00000000000000000000000000000@MO0000000000000000000000
00000D00000000000000000000000000000000000000000000000
00000D0D000000000000@00000000,r0000000000000-D0000000000
00000D00000000000000 Qryays, Gepes 10000000000
00000D00000000000 CronbachD ¢« D00000MOMOON0000000000000000
0000 2z 0000@MO0@MO0MO000000000000 #;02:023 00000 Cronbach0 o 00

_ 3 (1— 8331+5?E2+8303
T 3-1 s2,

)
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O000s,,, 0z 000000000000000O CronbachD o0 0.8000000000.700000000O
gooooooboooooooooboooooooooDo

X, Y, Z0UOOOOOODOOOOO0OO0OO0OO0OO0O0oO0oO0o0o0OCronbach0 o« 0000000000 ROODOOO
ooooooo

T <- X+Y+Z; VX <- var(X); VY <- var(Y); VZ <- var(Z); VT <- var(T)
alpha <- (3/2)*(1-(VX+VY+VZ)/VT)
print(alpha)

N J

17



gooogd

O00000Cronbach0 « 0000 O0O00OO0ODOCOOO0OOODOOOOOODODOOOOOOOOO
goboobodboooboobooobooboobbooboobDbooboobboobUoobobo
gbooooooobobobobooooooooooboon

gobooobboobooboboobooboooboobbooboobbooboobbooboon
ooboooooooobOoOoOooooOooobOoboOoOoooOooO0oDbOOO00OoOoOoooDbOOobOoOoOoOooDbOOn 12
gboboobooboboobooboobbooboobbooboobbobobooboboobbooboo
goboobodbboooboobooobooboobobooboobDbooboobbobobUoobbo
gboooooooobobobobooboooooobooboboboboboboooooooo

EILY
{5 AR
4

Rothman(2002)*¥00000000000000000
1. 000000000000000000000
2.000000000000000000000
3.0000000000000000000

coooOoooooooboooooooooooooon

gogobooboooooood

gogooooooobooboobbobobbooooooooobobobobbbbbboboooooooooooDo
gbooooooooboobobobooon

(‘ it10-8.R B
# 000 Simpson EH (1951) The interpretation of interaction in
# contingency tables. J. Royal Stat. Soc. Ser. B, 13: 238-241.
males <- matrix(c(4,3,8,5),nr=2)
dimnames (males) <- list(c("OO","O00"),c("OOOCDO","000O"))
females <- matrix(c(2,3,12,15),nr=2)
dimnames (females) <- list(c('OO","O00"),c("ODOOO","0000OM™))

total <- males+females

require(ved)
prop.table(males,2)

summary (oddsratio(males))
prop.table(females,?2)
summary (oddsratio(females))
prop.table(total,2)

summary (oddsratio(total))

J

*18 Rothman, KJ (2002) Epidemiology: An Introduction. Oxford Univ. Press0 00000000000 (2004) 0000 O
gooooooooOoOO0O0mMOOO0O0O00o0oOoOoooooooooo
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0000000000000 000O0000000000O000O00O000OO00D0DOoO0D0DoOOOoOn
goo00o00O0O0O0O0O0OO0O0O0O0U00000000O000U00UO0O000O000O0O0O00OoOOOOoOo
doooooooooooobobobobobobbobboooooog
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00000 p=027,p=10000004000000 4000000 IDDMOODOOOCO0O NIDDMOODO
000000000400 0000 IDDMO 0460000 NIDDMO 04104000000 IDDM O 0.008
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Kith—9.R N
x <- array(c(311,218,124,104,15,0,129,1) ,dim=c(2,2,2))

dimnames(x) <- list(c("OO","O00O"),c("NIDDM","IDDM"),c("4000O0O","40000"))

print(x[,,1])

fisher.test(x[,,1])

print(x[,,2])

fisher.test(x[,,2])

print (total.x<-x[,,1]1+x[,,2])
fisher.test(total.x)
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ooobooooobooooooooooboooobbo0oooooooooooDbooooDoOooDboboOooobooboOoo
ogoooooooOoooOoOooboOooooOooooooooooooooooooboOoOo 120000000
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O00vedO00O0OOO0O0O00O0O0OOwoolf test() JOOO0O0O0O0OO0O0DO0OOODOOOODOOOO

it10-10.R

x <- array(c(311,218,124,104,15,0,129,1) ,dim=c(2,2,2))

dimnames(x) <- list(c("OO","O00O"),c("NIDDM","IDDM"),c("40000O","40000"))
require(ved)

woolf_test(x)

mantelhaen.test (x)
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000000000000 D0O00000000 (1987) 000000000000 0000D00. O0000DOoOoO, 34(5):
255-260.
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